02102/01202/P01202

2018(Even)

Time : 3 Hrs. Sem.- I/I1
BC&IT

Full Marks : 80

Pass Marks : 26

Answer all 20 questions from Group A, each question

carries 1 mark.

T-A ¥ Tt w9 % I <, yF W H AE 1 3w € |

Answer all five questions from Group B, each question
carries 4 marks.

9-B ¥ Uier Yo % ST ¥, Tk YA ol T 4 3HF B |

Answer all five questions from Group C, each question
carries 8 marks.

T9-C ¢ °iel 99l & ST <, Wk U9 okl UM 8 3k B |

All parts of a question must be answered at one place in
sequence, otherwise they may not be evaluated.
Tk U9 & Gl 3790 1 I T & e (TR 8 §) B
=fey, T=ren 8 & Sif= S b © |

The figures in right hand margin indicate marks.
T¢ wisd & ek YU & G ¢ |
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1.

GROUPA

Choose the most suitable answer from the following
options :
qaifys STga faweq &t g fafem
(1 URL stand for
(a)  Uniform Resource Locator
(b)  Uniform Resource Link
(c) Uniform Registered Link
(d) Unified Resume Link
() I AW TA * fTR .. 2
(1) A f dEe
(a) FfwH fad faw
(W) FwH fRfsex faw
(2) gforee fad faw
(1)  Which is not an output device
(a) Mouse
(b)  Monitor
(c) (a) and (b) both
(d) None
G) = o 4 =M Seqe feamw & @
(31) A9
(&) A
(@) (30) qe (9) T
(%)

(iii)

(iif)

(iv)

(iv)
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Arrang in ascending order of the unit of memory

TB, KB, GB, MB

(a) TB>MB>GB>KB

(b) MB>GB>TB>KB

(c) TB>GB>MB>KB

(d) GB>MB>KB>TB

FEd TC %A H HUK THE B AR
TB, KB, GB, MB

(31) TB>MB>GB>KB

(d) MB>GB>TB>KB

(¥) TB>GB>MB>KB

() GB>MB>KB>TB

Which one of these store more data than DVD
(a) CDROM

(b)  Floppy

(c) Blue Ray Disk

(d) Red Ray Disk

g & 9 aF SEE ¥ SR 2w R
F 2l

(1) & < ™

() AT

(7)) =q ¥ fe=n

() & ¥ fe=

PTO
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v)

v)

(vi)

(vi)

(vii)

Eight bits make up a

(a) Byte

(b) Kilo byte

(c) Tera byte

(d) Mega byte

ae fae @ =9 T oo
(31) e

(a) frer amde

(9) 2 @me

(3) =M amEe

The printed output from a computer is called
(a) Copy

(b)  Soft copy

(c) Hard copy

(d) Paper

FIAX H ASIE B9 H HEd T
(31) hidt

() | b

(9) BE wdl

(%) it

UNIX is

(a) an operating system

(b) word processing
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(c) Data base

(d) None
(vi) IFERE 2
(1) TF ARfen faew 2
() =€ wEfgn
(9) Tr@ 39
(%) T e
(viii) Which one of the following is program group?
(a) Accessories
(b) Paint
(c) Word
(d) All of above
ii) et § @ #F dum w1 g9 @
(31) TwfaRs
(F) =
(9) =€
(%) ST g+t
(ix) Which is not an application software
(a) Windows NT
(b) Page Maker
(c) Win Word xp
(d) Photoshop
PTO
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(x) = & ° =N T=ieyd @wRam TR

(x)

(x) 9gd 98 A 9gd ° WUW HI TH BEA °

(x1)

(31) foe= @ @&
(F) I "R
(W) fo7 a€ wm
() IR

The ............ program compresses large files into

a smaller file

(a)  Win Shrink

(b) Win Zip

(c) Win Style

(d) None of above

AES B FEAT B o, HEA|
(31) o i

() faq fom

(W) fo wwa

(%) =g T

Which memory is volatile

(a) Pendrive

(b) HDD
(c) RAM
(d) Floopy

7
(xi) HF areEEd 9H 2l

(xii)

(xii)

(xiii)
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(31) TR
(9) wEfeeh
(") =
(7) Tt
Computer Uses ....... Language to process data.
(a) Relational
(b) Mega byte
(c) Binary
(d) Processing
T oo qr w SwE e W
# faw w2
(31) ferema
(F) HETEE
(@) arETd
(%) wrafET
All of the example of an input device except a
(a)  Scanner
(b) Mouse
(c) Printer
(d) Key bord
PTO
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(xil) 9 @ HF T A & B

(1) @R

() w="

(w) fy=x

(%) wiare

(xiv) Which of the following store more data

(a)
(b)
(c)
(d)

DVD

CD ROM
Floppy Disk

CD RW

xiv) 91 & @ ®F S s ®WROwE R
(1) & &t €t

(a) & & i
(9) vt feen

(3) @ St M T=q

(xv)

Set of instruction is called ..............

(a)
(b)
(c)
(d)

Program
Interpreter
Compiler

None

9 02102/01202/P01202

(xv) SRS H THE e, FEd 2
(1) 9™
(9) T=UR
(9) HTTEeR
(%) =g &l
(xvi) TCP full form is ............

(a) Transmission control Processor
(b) Transmit control Processor
(c) Transmission control Protocol
(d) None

(xvi) TCP &1 fa&m ............ 2
(31) TEfEm Higa TEW
(F) ITHE wig@A TEAER
(|) AT Figal s
(2) =g &

(xvil)) Which O.S. is freeware
(a) MS-Windows
(b) Ubantu
(c) (a) and (b) both
(d) None of the above

PTO
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xvi)) =1 & @ ®iF W efimfen fawew wEw

?

(1) T wy fae

() &g

(|) (30) q« (9) TEI
(3) SWad ¥ ¥ g &1

(xviii) Joy-stik is a/an

(a) Input device
(b)  Output device
(c) Memory

(d) Network device

(xviil)STA-EH TH  .......... 2|

(31) Tz feardw
(9) oeeye fearsy
(9) ==

(%) “ea=& fearq
1024 bit =?kb

(a) 1KB
(b) 2 KB
(c) 3 KB
(d) None
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(xix) 1024 fae =? =4
() 1 &
(F) 2 & o
(9) 3 & o
(2) =E
(xx) Which is Impact printer below?
(a) Daisy wheal
(b) Laser
(c) (a) and (b) both
(d) None
(xx) T ¥ B IR HX B2
(31) = =t
(F) TR
(|) (31) da () A

() T &
GROUP B
Answer all Five Questions. 5x4=20
gft o e @ W e |
2. Explain www (world wide web) in short. 4
gee dRE 9w AW e &l
Or (31214T)

Define computer Network protocol Name any two
protocol 4

PTO
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FFI e WEhial il aRefia ) fE=l
e & TW fad

Explain in brief working of CVT. 4

WA # FwE Vet w Hww § T
Or (31214T)

Explain the working and advantages of UPS 4

FZARTE ® HE T AT H GHSCI

Differentiate between magnetic tape and magnetic disk.
in brief. 4

Hfes 20 @ AHfes for @1 qocAs wiew
R H

Or (31214T)

Define system and application software with an
example. 4

Teisyd Td fgen 9readsx &1 3eE 9feqd
HHSATT|
Discuss in brief computer generation. 4
FR ® e & dfww == Wl

Or (31e14T)

Explain Computer language generation in brief 4

FHR 9w & fafa= difedt w1 dfea ==t w1
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Explain BIOS 4

B HI TR |
Or (37214T)

What is assembler and assembly language? 4

TOrEeR el TOTEe WS A B2

GROUP C

Answer all Five Questions. 8x5=40

et uter gv % S dfST |

7.

Explain each unit of Block diagram of basic Computer

Organization 8

9% FPR @A F ww IRE TE qel
Jd® S (FA2) & wE w fawr @ guem

Or (37214T)

Explain the work of ALU, CU and I/O unit of computer
in detail 8

TUAY, WY qA TIY/ACYS Hl HIPR ITHEA
# foga =mEem

Explain LAN, MAN, & WAN in detail using suitable
example. 8

O, B du 99 ® HEEO e &
PTO
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10.

Or (31214T7)

Explain Computer Network. Discuss the types of
Network topologies. in detail using suitable diagram.
8

FEXR gk FHAC WY € Adsd At &
fafr= vt =t wfes =mEm =X

Explain the working principle of Dot-matrix printer
with suitable diagram. in detail. 8

Sle-fifew T =1 wfew, sus gl qeon sEwed
H fomr 9 =men

Or (31214T7)

Explain DOS and its three internal & three external
commands. 8
9 T T GHI? dn fRE dH-dH seEe qo
THAA 9 SRyl & faw|

Explain shell and kernal in UNIX 8

o v WA W ooren g ® wd o
Or (31214T7)

Explain log-in and log-off in Unix. 8

I H -39 A A-ew & R @ fowR
¥ gug
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11. Discuss in detail OSI model of Networking 8
qeafhT ® S UE SME Hied =i fawga =men w1l

Or (31214T7)
Write short Notes On :- 8

(1) Internal &External DOS commands
(i)  E-mail

fm W dfva e fae -

() 3@ T TEHSId T SR
(i) v

skokook



